Problem 2 (35 points)

CMBox

Consider the blocks on the inclined plane shown in the figure. The weights are given in the figure, as is the coefficient

of static friction.

(a) What is the smallest force P that will hold the triangular block in place?
(b) Now assume that P=225 Ib.
i What is the magnitude of the normal force between the triangular block and the inclined plane?

ii.  What is the friction force {magnitude and direction) between the triangular block and the inclined
plane?

W=200 Ib
W=100 ib
ns=1/3 (For all surfaces)
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